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CD=EE(919) 1.53% 0.79% 0.79% 0.00%p
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SAAGY, AA-) 1.94% 2.24% 2.23% -0.01%p
/2 1,157.80 1,195.80 1,200.70 0.4%
. /(1000 1,063.47 1,114.60 1,123.25 0.8%
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/919t 165.74 170.27 171.59 0.8%
KOSPI 2,197.67 2,167.90 2,183.76 0.7%
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KOSPI H3A|%= 13,698.26 9,922.84 10,086.35 1.6%
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LIBORG/HY, US$) 1.91% 0.27% 0.27% 0.00%p
ul= Z1(109) 1.92% 0.61% 0.62% 0.01%p
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AE T A(10) -0.01% 0.03% 0.03% 0.00%p
A/ g 108.87 107.29 106.90 -0.4%
ke
g99/5=2 1.12 1.13 1.14 0.7%
)= Dow]Jones 28,538.44 25,706.09 26,734.71 4.0%
)=+ Nasdaq 8,972.60 10,547.75 10,473.83 -0.7%
9= FTSE100 7,542.44 6,049.62 6,250.69 3.3%
=9 DAX30 13,249.01 12,489.46 12,874.97 3.1%
A CAC40 5,978.06 4,921.01 5,085.28 3.3%
F7+
Y= Nikkei225 23,656.62 22,529.29 22,770.36 1.1%
5= o5 3,050.12 3,450.59 3,210.10 -7.0%
gt 714 11,997.14 12,192.69 12,157.74 -0.3%
25 3 28,189.75 26,210.16 24,970.69 -4.7%
DowJones E@A]% 346.33 280.39 291.82 4.1%
bl 3(USS/HIE) 65.38 43.25 42.76 -1.1%
AR
ZHNYMEX)(US$/2~) 1,522.77 1,808.57 1,806.45 -0.1%
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